NZXT

H510 FLOW

PREMIUM COMPACT MID-TOWER ATX CASE

EXPLODED VIEW

VISTA EXPLOSIONADA
VUE EN ECLATE
EXPLOSIONSDARSTELLUNG
VEDUTA IN ESPLOSO

VISTA EXPLODIDA

TPEXMEPHOE MPEACTABNEHME JETANEN

£
EHE
BlEnRE
BEnRE

1

REAR EXHAUST FAN

2

PSU DUST FILTER

CABLE BAR

3
LEFT TEMPERED GLASS SIDE PANEL
4

5

FRONT COOLER BRACKET

6

FRONT INTAKE FAN

7

FRONT I/0

8

RIGHT METAL PANEL

9

10

CHASSIS

11

HDD CAGE

12

FRONT FILTER

13

FRONT MESH PANEL

L R

©

L R

=@

12.
13.

SSDTRAY

Ventilador de escape trasero
Filtro de polvo de la PSU

1. Ventilateur d'&échappement arriére

2 . Filtre a poussiere du bloc d'alimentation
Panel de vidrio templado lateral izquierdo 3 . Panneau latéral gauche en verre trempé
Barra de limpieza 4 . Barre pour la gestion des cables
Soporte del refrigerador frontal 5 . Support du dissipateur avant
Wentilador de admision frontal 6 . Ventilateur d'admission avant

4

8

. E/S frontal - E/Savant

. Panel metalico derecho . Panneau métallique droit

. Bande]a unidad de estado sélido 9. Plateau SSD

. Chasis 10. Chassis

- Compartimento do disco rigido 11. Plateau pour disque dur
- Filtro frontal 12. Filtre avant

- Panel de malla frontal 13. Panneau avant en filet

. 33QHMIA BLITAXKHON BEHTURATOP 1. ZHuZIH
. Mbinegoit duAbTP 6r10Ka NUTaHUA 2. PSU Tx| EEH
cTekna 3. B= g5 7E| Aol E i

. Manens Clean sweep 4. #olg g2 8t
Kp iiH NepepHeil cucTevbl 5. MEH B =243l

. NMepegHuit NPUTOUHBIA BEHTUNATOP 6. MHZ7 H

- Pasbembl cnepepu 7.0%1/0

. Mpaean MeTanNWyeCcKan NaHenk 8. 230y e

. NloTok anA TRepACTeNbHbIX HakonuTeneit 9. 858D E30

- Kopnyc 10. AgA|

. Notok gna xecrtkoro gucka 11. HDD Ego|
MepegHuit gunstp 12, HH UEH
MepegHAR ceTuaTaA NaHenb 13. Ao O E

. Lofter far Luftauslass an Rickseite
. Netzteil-Staubfilter

. Hartglasfenster links

. Reinigungsleiste

. Kiithlerhalterung an Vorderseite

. Ansaugliifter vorne

- E/A an der Vorderseite

® N a e o

©

- 88D-Fach
- Gehause

= o

- Festplatteneinsatz
. Frontfilter
- Mesh-Einsatz vorne

© o~

CITEH T T

. PSU S F7qbE—
LB PR SR R
LA —AREER

CEER e i e
L IAVA T =0T T

- A0

CEY FEEARL
SSDF LA

10. 2p—
M AN—FRSr 7L
12. 70 R Il B —

13. 7O A Aya Rl

® N a e o

. Seitliche Abdeckung rechts aus Metall

@ N @ ke~ o

w0 ®

- Ventola di scarico posteriore
. Filtro polvere alimentatore

. Pannello laterale sinistro in vetro temperato

. Barra di gestione dei cavi

. Staffa raffreddamento anteriore
. Ventola di aspirazione anteriore

. /0 anteriore

. Pannello destro in metallo
. Cassetto SDD

. Chassis

. Cassetto HDD

. Filtro anteriore

- Pannello frontale in rete

. EESE

. PSUBFLTRE
. EMFEER
L MR

. S A SRER
. EEAER

- il 1/0

- AT

. ssD22

. #lE

L EER

- EIEERS

. FIFE

. Ventoinha de exaustao traseira

. Filtro de po do PSU

. Vidro temperado do painel lateral esquerdo
. Barrade limpeza

. Suporte da ventoinha frontal
Ventilador de entrada frontal

. E/S frontal

. Painel de metal direito

- Tabuleiro de SSD

. Chassi

- Bandeja de unidad de disco duro
- Filtro Frental

- Painel de malha frontal

CEEEEES

- EREERRERE
. RS {CREEE
- BEgEE

- BT EE R

. EERAR

- EiA VO

- EBREREE

. 8SD%

- W

- iEEn

. EEEE

- EUiiE

CLEARANCES AND SPECIFICATION

MEDIDAS Y ESPECIFICACIONES
DEGAGEMENTS ET SPECIFICATIONS
ABSTANDE UND TECHNISCHE DATEN
SPAZINECESSARI E SPECIFICHE
DIMENSOES E ESPECIFICACOES
TEXHMUECKWE XAPAKTEPUCTMKN W 3A30PbI
FlEc g

sl K

5 S

MR

Motherboard Support
2.5" 55D Support
3.57 HOD Support
Expansion Slots

GPU Clearance

Cable Management
CPU Coaler Clearance
Front Radiator

ATX, Micro-ATX, Mini-ITX
2+1

2+1

7

368.5mm

19-23mm

165mm

B0mm

460MM

210MM 428MM
® -0 CH Q@TN oo |
o [-] : ® h E!
] o
4 L 2 o T m
Il L L o R
I - AN
. [El7XST8 \/’\% :
] L] d
[ 2 E

~ 4

Placas base admitidas

Unidad de estado s6lido de 2,5
Unidad de disco duro de 3,5"
Ranuras de expansién

Distancia de seguridad para GPU
Administracién de los cables
Disipador de la CPU

Radiador frontal

Cartes mére prises en charge
$5D 2,57

Disques durs 3,5"

Baies d'extension

Longueur du GPU

Gestion du cablage
Radiateur du processeur
Radiateur avant

Motherboard-Unterstitzung
2,5-Zoll-5SD
3,5-Zoll-Festplatte
Erweiterungssteckplitze
GPU-Abstand
Kabelverwaltung
CPU-Kahler

Vorderer Kihlkérper

Scheda madre supportata
SDD 2.5"

HDD 3.5

Alloggi d’espansione
Spazio necessario alla GPU
Gestione dei cavi
Dispersore di calore CPU
Radiatore frontale

Placa-principais suportadas
SSDde 2,6"

HDD de 3,5”

Ranhuras de expansao
Folga para a GPU

Gestéo de cabos

Dissipador de CPU
Radiador frontal

ATX, Micro-ATX, Mi
2+1

2+1

7

368.5mm
19-23mm

185mm

B0mm

ATX, Micro-ATX, Mini-1TX
2+1

2+1

7

368.6mm

19-23mm

186mm

80mm

ATX, Micro-ATX, Mini-ITX
2+1

2+1

7

368.5mm

19-23mm

186mm

60mm

ATX, Micro-ATX, Mini-ITX
2+1

2+1

7

368.6mm

19-23mm

185mm

B0mm

ATX, Micro-ATX, Mini-ITX
241

2+1

7

368.5mm

19-23mm

165mm

60mm

MoAASpKa MaTepHHCKOM ANaTH!
ANA TREPACTENbHEIX HaKomMTeneil 2,5"
AANA KeCTRIX AUCKos 35"

Pazbaml pacwnpsHmA

3a20p AnA rpaduuectore NpoLeccopa
Opranu3ayma kabensHbx cHeTem
Kynep npoygccopa

Nepenruit paguatop

[ N = )
2.5" 88D

3.5" HDD

=AY =R

GPU 7t
#Holg EE|
CPU 22|

9% atolojolE

TH—FR—FHF—t
2.5"SSDH F—H
3.5"HDDHH—I
THRIavAAE
GPUZUTZR

=7 ILnER
CPUZ—Z—ZF7Z /A
ZO0x VT2~

= ]
2.5"550E
3.5"HDDE
¥R

GPU %
FEHET

= e
2.5"SSDE
3.5°HDDE 8
W

GPU ZE
HAET

CPU 13183 M35
FIEAFE

ATX, Micro-ATX, M
2+1

2+1

7

368.5mm
19-23mm

165mm

B0mm

ATX, Micro-ATX, Mini-ITX
2+1

2+1

7

368.6mm

19-23mm

166mm

B0mm

ATX, Micro-ATX, Mini-ITX
2+1

2+1

7

368.5mm

19-23mm

166mm

60mm

ATX, Micro-ATX, Mini-ITX
2+1

2+1

7

368.6mm

19-23mm

16Emm

B0mm

ATX, Micro-ATX, M
2+1

2+1

7

368.5mm
19-23mm

16Bmm

60mm

ACCESSORY BOX

CAJA DE ACCESORIOS

BOITE D'ACCESSOIRES
ZUBEHORSET

SCATOLA DEGLIACCESSORI
CAIXA DE ACESSORIOS
KOPOEKA C MPUHAONEXHOCTAM
Stz B

E standoff 6-32 x 6.5+4mm

B (BRPABAY)
EtR x1 \
i i
A Hexagon Screw 6-32 x 6mm F standoff wrench
X @ 1

i) ®©@ o8
B screw 6-32x 5mm G cableTie

C

Screw M3 x 5mm

Te

H Breakout Cable

\

|  3.5mm Headset audio jack splitter

A
B
c
D
E.
F
G
H

1

. Hexagon screw 6-32 x 8Bmm
. Screw 6-32x 5mm

. Screw M3 x 5mm

. Screw KBE x 10mm
Standoff 6-32 x 6.5+4mm

. Standoff wrench

. Cable tie

. Breakout Cable

. 3.5mm Headset Audio Jack splitter

4

Powier supply installation

Motherboard installation, 3.5 hard drive installation

2.5 hard drive installation

Fan installation

Motherboard installation

Matherboard installation

Cable managment

For Non-Intel Standard F_Panel Header Use

Convert single 3.5mm 4 poles audio port to two 3.6mm 2 poles audio ports

A . Tornillo hexagonal de 8-32 x 6 mm
B . Tornillo de 6-32 x 5 mm
C. Tornillo M3 x 5mm

D . Tornillo KBS x 10 mm
E . Separador 6-32 x 6,5 +4 mm
F . Llave para separadores

G. Brida para cables

H . Cable multiconector

1 . Divisor del conector de audio de los
“ auriculares de 3.5mm

A . Vis hexagonale 6-32x 6 mm

B. Vis 6-32 x5 mm

C. Vis M3 x & mm

D. Vis KBEx 10 mm

E. Entretoise 6-32x 6,5 + 4 mm

F . Clé pour entretolise

G . Attache-cable

H . Cable multi connexions

| . Répartiteur audio Jack 3,5 mm pour casque

A . SBechskantschraube & — 32 x & mm
B. Schraube 6 - 32 x 5 mm

C. Schraube M2x & mm

D . Schraube KB5x 10 mm

E. Abstandhalter 6 - 32 x 6,5 + 4 mm
F . Abstandhalter-Schlissel

G . Kabelbinder

H . Kabelpeitsche

1. 2,5 mm Kopfhérer-Audio-Splitter

A . Vite esagonale 6-32 x 6 mm

B . Vite 6-32 x 5mm

C. Vite M3 x 5 mm

D . Vite KBS x 10 mm

E. Distanziatore 6-32 x 6,5 + 4 mm
F . Chiave per distanziatori

G . Fascetta per cavi

H . Cavo multiconnessione

| . Splitter per jack audio da 3,5 mm

A . Parafusos hexagonal 6-32x 6 mm
B . Parafusos 6-32 x 5 mm

C . Parafusos M3 x5 mm

D. Parafusos KBS x 10 mm

E . Separadores 6-32 x 6,5+4 mm

F . Chave para separador

G . Bracadeira para cabos

H . Cabo divisor

1 . Divisor de jack de audio de 3,5 mm

Instalacién de la fuente de alimentacién

Instalacion de la placa base e instalacién de la unidad de disco duro de 3,5"
Instalacién de la unidad de disco duro de 2,5"

Instalaciéon delventilador

Instalacién de la placa base

Instalacién de la placa base

Administracion de los cables

Para panel frontal de placas base no Intel.

Convierta un sclo puerto de audic de 3.5 mm y 4 polos en dos puertos de audio
de3.5mmy 3 polos

Installation de l'alimentation électrique

Installaticon de la carte mére, installation du disque dur 3,5

Installation du disque dur 2,6

Installation du ventilateur

Installaticn de la carte mére

Installation de la carte mére

Gestion du cablage

Pour le connecteur Front Panel de cartes méres non-intel

Convertissez un seul port audio 3,6 mm &4 pdles en deux ports audic 3,6 mm 43 péles

Netzteilinstallation

Motherboard-Installation, 3,56-Zoll-Festplatteninstallation,
2,5-Zoll-Festplatteninstallation

Lifterinstallation

Motherboard-Installation

Motherboard-Installation

Kabelverwaltung

Front Panel Header fir alle gangigen nicht-Intel Mainboards

Wandeln Sie einen einzelnen 3,5-mm-4-Pol-Audioport in zwei 3,5-mm-3-Pel-Audioports um

Installazione dell’alimentatore

Installazione della scheda madre, installazione HDD 3.5”

Installazione HDD 2.5"

Installazione dellaventola

Installazione della scheda madre

Installazione della scheda madre

Gestione dei cavi

Connettore F-Panel per Mainboard non Intel

Converti singola porta audio da 3,5 mm a 4 poli in due porte audic da 3,5 mm a 3 poli

Instalacdo da fonte de alimentagdo

Instalacdo da placa principal, instalacdo da unidade de 3,6"

Instalacao da unidade de 2,6"

Instalacao da ventoinha

Instalacdo da placa principal

Instalacédo da placa principal

Gestao de cabos

Para ligacao do painel frontal (F-Panel) em placa-méae padrao nao-Intel

Converta uma Gnica porta de audio de 4 polos de 3,6 mm em duas portas de
&udio de 3 polos de

. BUHT 6-32 x B mm

. BuHT M3 x 5 mm

. BuHT KBG % 10 mm

. Croitka 6-32 x 6,5 + 4 mm
. TaeuHbIi KNy

. KabenbHbiid xomyT

T &3 TMO0O®E

. Kabenb-pazgeTeutenn

| . Pasbem 3,5 MM ANA HaYWHWKOE

SZLEARE-32x 6mm
fAb6-32 x5mm

FAF M3 x Smm
fAHKBE x 10mm

[

AL
B.
C.
D.

=

E.2~HE2 % 6-32x 6.5+4mm

F.2HCco= 3%
G. # 0|2 Efo|
H. Ego|30t% #Holg

1.3.56mms|EM 202 B A

A.6A76-32x 6mm
B. 73/6-32x5mm
M3 x Emm

D. ®ZKBSx 10mm

E. A% FA76-32 x B.5+4mm

F.RZFFT LT
Q. 5=7IaA
H. FL—5T k=7

. BUHT WwecTurpaHHblil 6-32 x 6 MM

YCTaHOBKa UCTOMHHKA MUTaHWA

YCTaHOBKa MaTePUHCKOM NNaTsl, YCTaHOBKA #eCTKOro gucka 3,5"

YcraHoBKa kecTkoro gucka 2,5'"

YCTaHOBKa BEHTMNATOPA

YCTaHOBKa MaTepUHCKOM nnatel

YCTaHOBKA MATEPWUHCKOM NNaThl

Oprannzauna kabenbHeix cHCTeM

Ilﬂﬂ nogknoyueHna ¢chTaanuﬁ NAHENW K MATEPUHCKUM NNaTam C pasbemamit He-
Intel cTanpapra

Mpeobpazosanne ogHoro 3,5-MM 4-nonlocHoro ayguonopTa B Aga 3,5-mMm
3-noniocHbix ayanonopTa

MDA 24

Ot 2E %], 3.6 5t= =2to|=2 dF|

2.6 5= E2to| = A%

=L

Ot 2E M|

ohEec H7

Aoz e

B N EF HOLE R AT L) Y &

CHY 3.6mm4 S 202 ZES 2719 3.5mm3 = RO ZEE HE

RREER

TH—F— FEE LSHODEER
2.5HDDEE

TFEER

TH—ih—FEER

<H—F—F&EER

= IVEER

MB@F-Panel vy £ IntelfBR T3 e &

1. 3smmay Py b =74 F Ppu s A7) v E B—m3 5mm 4881 —Fr A H— M 2203, 5mm 38F — T F H—h o

A.ABBLE6-32x 6mm
B. 5% 6-32 x 5mm

C. ¥ M3 x 5mm

D. ¥ KB5x 10mm

E. 4% 6-32x 6.5+4mm
F. HEESET

G. REF

H. 25

| . 3.5mmEHEMAL 2R

. NEE 6-32x 6mm

D. #5# KB5x 10mm

E. BI#E 6-32 x 6.5+4mm

F. BT ERET

G. FEH

| . 3.5mm EMERALS BT

L

FIREE, A5 ERER

25 BRTE

BRAE

EHELH

EiREH

SHHEE

BTFsEARTmEZ e mED

FEIBmm 4BERREOBRAMT3.5mm IREMED

ZRER

EWRER, 3.5 BEEHR

2.5 Wi

ERER

EiRER

FEER

fmiEE

R PR R R E SRR B T
HEE35mm AR FHABABRESmm IESFIHT

CABLE CONNECTIONS

DISCO DE ADMINISTRACION DE CABLES

CONNEXIONS DES CABLES
KABELVERBINDUNGEN
COLLEGAMENTI DEI CAVI
LIGACOES DE CABOS
NOAKNIOYEHWE KABENERA
Aols @A

=7 IER

wIEEE

FOR INTEL STANDARD F_PANEL HEADER USE

USB3.1 GEN 2

USB3.1GEN1

FOR NON-INTEL STANDARD F_PANEL HEADER USE

HD AUDIO

HDAUDIO

BUTTONS AND I/0

BOTONES Y E/S

BOUTONS ET E/S

TASTEN UND E/A

PULSANTI E I/0

BOTOES EE/S

KHOMKW A PAILEMEI BRBOOA/BEIBOLA
HE 210

FEVHLT VO

EEA 0

A1 1/0

. HD Audio Qutput

. USB 3.1 Gen2 Type-C
. USB 3.1 Gen1 Type-A
. HDD LED

- Power LED

. Power switch

o s W R

1. Salida de audio HD

2. USB 3.1 Gen2 Type-C

3. USB 3.1 Genl Type-A

4 . LED de unidad de disco duro
5 . LED de alimentacion

& . Interruptor de encendido

1. Sortie audio HD

2. USB 3.1 Gen2 Type-C

3. USB 3.1 Genl Type-A

4 . Témoin disque dur

6 . Témoin d’alimentation

& . Interrupteur marche/arrét

1. HD-Audicausgang
2. USB 3.1 Gen2 Type-C
3. USB 3.1 Genl Type-A
4 . Festplatten-LED

6 . Betriebs-LED

6 . Netzschalter

1. Uscita audio HD

2. USB 3.1 Gen2 Type-C

3. USB 3.1 Genl Type-A

4 . LEDHDD

6. LED alimentazione

6 . Interruttore d'alimentazione

1. Saida de audio HD

2. USB 3.1 Gen2 Type-C

3. USB 3.1 Genl Type-A

4 . LED do HOD

5. LED de alimentacio

& . Interruptor de alimentacao

1. 3pykoeoi ebixog HD

2 . USB 3.1 Gen2 Type-C

3. USB 3.1 Gen1 Type-A

4 . VIHAMKATOP HECTKOrO ANCKa
5 . IHOWKaTOP NUTaHWA

6 . Boikniouatenb nUTaHUA

1.HD2r2 &%

2. USB 2.1 Gen2 Type-C
3.USB 2.1 Gen1 Type-A
4 . HDD LED

5. ME LED

6. HE =9l

1. HDA =77

2 . USB 3.1 Gen2 Type-C
3.USB 3.1 Gen1 Type-A
4. HDDLED

5. /i7—LED

6. BERYTF

1. BEEEEE

2 .USB 3.1 Gen2Type-C
3. USB 3.1 Gen1 Type-A
4 . HDD LED

5. SIFLED

6 . EifFE

1. BEEHEES

2 . USB 3.1 Gen2 Type-C
3. USB 3.1 Gen1Type-A
4 . HDDLED




PANEL REMOVAL

EXTRACCION DE PANEL
RETRAIT DU PANNEAU
BLENDE ENTFERNEN
RIMOZIONE DEL PANNELLO
REMOGAO DOS PAINEIS
CHATWE NAHENK

IHE A

IR ILTEYHL

FTEE

BREE

STEP1

LOCATE AND REMOVE SCREWS

STEP 2

REMOVE PANEL

STEP 3

UNSCREW CAPTIVE THUMB SCREW

STEP 4
PULL TOP OF GLASS PANEL

STEP 5
LIFT AND REMOVE PANEL

CABLE MANAGEMENT SYSTEM

SISTEMA DE GESTION DE CABLES
SYSTEME DE CABLAGE
KABELMANAGEMENTSYSTEM

SISTEMA DI GESTIONE DEI CAVI

SISTEMA DE GERENCIAMENTO DE CABOS
CUCTEMA NMPOKNALKI KABENEM

#Hols 22l A=Y
F—TNRRIASSRT

BEEERE

EigSHRE

FAN CABLE CHANNEL

8-PIN CHANNEL

[+

24-PIN CABLE

YEEC=T=

MOTHERBOARD INSTALLATION

INSTALACION DE LA PLACA BASE
INSTALLATION DE LA CARTE MERE
INSTALLATION DER HAUPTPLATINE
INSTALLAZIONE DELLA SCHEDA MADRE @
INSTALAGAO DA PLACA PRINCIPAL J
YCTAHOBKA CUCTEMHOW NMNATbI ? |
oigEC M ! ]
TH—F—FOEE ! :
ESit ' !
iR ' !
1 ]
1 I
1 1
]
i
i
i
i

B T |

T

POWER SUPPLY INSTALLATION

INSTALACION DE LA FUENTE DE ALIMENTACION
INSTALLATION DE L’ALIMENTATION
INSTALLATION DER STROMVERSORGUNG
INSTALLAZIONE DELL'ALIMENTATORE
INSTALACAQ DA FONTE DE ALIMENTACAQ
YCTAHOBKA WCTOYHWUKA NIATAHWA
HESITA EA

BREOES

EREE

ERER

IMPORTANT!

Install the PSU with the fan facing down.

EXPANSION CARD INSTALLATION

INSTALACION DE LA TARJETA DE EXPANSION
INSTALLATION DE LA CARTE D'EXTENSION
INSTALLATION DER ERWEITERUNGSKARTE
INSTALLAZIONE DELLA SCHEDA D'ESPANSIONE
INSTALAGAO DA PLACA DE EXPANSAOQ
YCTAHOBKA MNATH PACIIMPEHMA
=g 7te 24

HEA—FOES

¥ RER%

WEFEEZE

HDD DRIVE INSTALLATION

INSTALACION DE LA UNIDAD DE DISCO DURO
INSTALLATION DE LECTEUR HDD
HDD-LAUFWERKSINSTALLATION

INSTALLAZ IONE DELL'UNITA HDD
INSTALACAO DA PLACA DE EXPANSAD
YCTAHOBKA KECTKOTO OUCKA

HDD E2t0|=2 Z#]

HDD#EE

HDD i &dE

HERRE

SSD DRIVE INSTALLATION

INSTALACION DE LA UNIDAD DE DISCO DE ESTADO SOLIDO
INSTALLATION DU DISQUE SSD

SSD- LAUFWERKSINSTALLATION

INSTALLAZ IONE DELL'UNITA SDD

INSTALACAO DA PLACA DE EXPANSAD

YCTAHOBKA TBEPAOTENBHOIO HAKOMTENA

SSDEZ 024X
SSDEE
SSDEmMBEEE
SSDEE

VERTICAL MOUNT

HORIZONTAL MOUNT

DIY LIQUID COOLER SUPPORT

HAZLO TU MISMO: SOPORTE PARA REFRIGERADOR LIQUIDO

SUPPORT DE REFROIDISSEMENT LIQUIDE A ASSEMBLER VOUS-MEME
WASSERKUHLUNG MARKE EIGENBAU

SUPPORTO PER DISSIPATORE A LIQUIDO FAI-DA-TE

SUPORTE A REFRIGERAGAO LIQUIDA DIY

NOAAEPKKA CAMOCTOATENBHOW CEOPKU KMAKOCTHOM CUCTEMBI OXNAXAEHUA
DIY =24 2 X &

KAT—S—ZHBD DIY

DIy @i 2 A=

DIY 7K 518

The Cable Bar could support up to 160mm tall tube reservoir with M4 screws
The bottam Panel could suppaort D5 or DDC pump mount with M4 screws

La barra para cables podria sopertar un depésito de tubo de hasta 150 mm de alto con tornillos M4
El panel inferior podria soportar el montaje de una bomba D5 o DDC con tornilles M4

La barre de gestion des cables peut supporter un réservoir d'une hauteur maximale de 150 mm avec des vis M4
Le panneau inférieur peut supporter un montage de pompe D5 ou DDC avec des vis M4

Die Kabelschiene bietet Platz fir einen bis zu 150 mm hohen Rohrbehélter mit M4-Schrauben
Die untere Abdeckung bietet Platz fir eine Db- ader DDC-Pumpenhalterung mit M4-Schrauben

La barra dei cavi supporta un serbatoio tubolare alto fino a 160 mm con viti M4
Il pannello inferiore supporta il montaggio della pompa D& o DDC con viti M4

Abarra de limpeza pode suportar um reservatério de tubos alto de 160 mm com parafusos M4
O painel inferior pode suportar montagem de bomba D5 ou DDC com parafusos M4

Ha kaGenbHyk NaHenb MOMHO YCTAHABNHBATL TRYOUATHIA pesepByap epicoTod Qo 160 MM ¢ nomMowblo BUHToB M4
Ha HukHIW NaHens MoxHo ycTavaenueatb Hacoc DB unn DDC ¢ nomowso BuHTor M4

A 0|2 gt M4 LEALE H[0f 160mm £0/2] S 288 AAE = ST
SITF Y2 M4 LIALE D5 == DDC BE= D2 EE A A2 & gDt

F=7 =T Ma RIYTEEHBA 1580mm OF 21— THKE 72 ZAZBELFBYET
FELARIVIZIR—ME 2P T D6 Fizld DDC F T BRI 3E8ELHBET

LNRTILIE M4 BE TR 150 LROSSEE, EEEIETLE M4 B35 D5 5 DDC REE
WA EA M4 B TILEIEES 150mm MEKE, EEERERE M4 B - TILIZ12 D5 35 DDC RERE

FAN AND RADIATOR SUPPORT

COMPATIBILIDAD DEVENTILADORES Y RADIADORES
PRISE EN CHARGE DES RADIATEURS ETVENTILATEURS
LUFTER- UND KUHLER-UNTERSTUTZUNG

SUPPORTO VENTOLE E RADIATORE

SUPORTE PARAVENTOINHA EA RADIADOR
COBMECTWMBIE PAVUATOP 1 BEHTUNATOP

W gL EtC|ofofE X E

W IFBLUTYT—%

BRI
TOP
1X 120MM
1X 140MM

FAN MODE 8

Q REAR
. . 1X120MM

FRONT
2X 120MM
2X 140MM

RADIATOR MODE

REAR
1X 120MM

FRONT
1X120MM
2X 120MM
2X 140MM

The screws shown
will be provided
within liquid cooler
packaging.

REAMBERTRIER/ RANBERTREE

F@EW M HEF

FEET #(Pb) f#(Cd)
PCBA R bt
ERE
54
EmEaE
kil
KE
BEREFEH
HxEERISR

o]
o]

/00|00 000
0000000

FEAGEBSI/T 113640 AELRH -

T

E(

g|o|o|o|o|C|OO|0

2

ALMR

FTE(Cr)

O

Q|o(0|0|0|C|0|0

R

O: ZEREAEYREZEEAEARMAPHS RISEGE/T 26672 ENREERT -

X FE
2011/65/EU 578133 -

e

Clolo|o|C|C|0|0|O

(PBB)

% MBFBE(PBDE)

o]

Ql|o|o|o|c|o|O|o

ERSE B HERT
RANE RS

L b £4(Pb) #(Cd)
PCBA R bt
R
@
EWERE
R
BB
SEEEERR
BT EARSR

o]
o]

C 0000 C OO0
C 0000 0CCOo

H
S
@

clolojo|o|e|Q(O|O

A IE##(Cr)
o}

c|ojo(0o|0|0|0|0

% b

B

0|0 000 0000

HWEL R IWt% R EH.0Iwt RERENEIESEREHES LSRR FE -

HWE2. O hisH
HWES. " GEABREDERBEEE -

BRENEZESLSERENES L SREER -

(PBB)

B3 BE(PBDE)

]

glololojclCc|C|O

REGULATIONS

FECe

This personal computer case with the smart device is tested to comply with FCC standard, Australian standard and EU
EMC Directive (2014/30/EU)

CAN ICES-003(B) / NMB-003(B)

This Class B personal computer case with smart device complies with Canadian ICES-003

Cet étui pour ordinateur personnel de classe B avec dispositif intelligent est conforme a la norme NMB-003 du Canada

NZXT GLOBAL WARRANTY POLICY

This NZXT Global Warranty Policy governs the sale of products by NZXT to you.

I. WARRANTY LENGTH

New NZXT Product Warranty Length for Parts

Computer Cases 2 Years
Temperature Meters 2 Years
Fans 2 Years
Lighting 2 Years
Accessories 2 Years
Kraken M Coolers 3 Years
Motherboards 4 Years
Gold Power Supply 10 Years
Kraken X/Z Coolers 6 Years

Refurbished NZXT Product Warranty Length for Parts
ALl NZXT Certified Refurbished Products 1Years

Any replacement product will be covered under warranty for the remainder of the warranty period cr thirty days, whichever is
longer. Proof of purchase is required for warranty service.

I1.WHO IS PROTECTED
The Warranty covers only NZXT products purchased by the original consumer.

11l. WHAT IS AND IS NOT COVERED

Please note that our warranty is not an unconditional guarantee. If the product, in NZXT's reascnable opinion,

malfunctions within the warranty period, NZXT will provide you at its sole discretion with a repaired or

replacement product, either new or refurbished, with a similar function that is equal or greater in value depending

on supply. Qur warranty does not cover the following:

« any product or serial number/warranty sticker modification applied without permission from NZXT;

« any damage that is not a manufacturing defect;

« damage, deterioration or malfunction resulting from: accident, abuse, misuse, neglect, fire, water, lightning, or other acts of
nature, unauthorized product madification or failure to follow instructions included with the product;

« improper installation, unauthorized alterations or modifications, or repair or attempted repair by anyone not authorized by NZXT;

+ shipping or transport damage (claims must be made with the carrier);

« normalwear and tear.

NZXT does not warrant that this product will meet your requirements. It is your responsibility to determine the
suitability of this product for your purpose. For NZXT Store orders, we cover twoe way return shipping for all
exchanges and returns. For all other authorized dealers, NZXT Support does not cover return shipping and only
covers one way shipping from NZXT back to the end user for exchanges. Two way expedited shipping is provided for
all PSUs covered under the Less Than Three program, indiscriminate of purchase location, provided the location is
an approved NZXT reseller.

IV. EXCLUSION OF DAMAGES (DISCLAIMER)

NZXT's sole obligation and liability under this warranty is limited to the repair or replacement of a defective
product with either a new or refurbished product with a similar function thatis equal or greater in value at our
option. NZXT shall not, in any event, be liable for any incidental or consequential damage, including but not limited
to damages resulting from interruption of service and loss of data, business, or for liability in tort relating to this
product or resulting from its use or possession.

V. LIMITATIONS OF IMPLIED WARRANTIES

There are no other warranties, expressed or implied, including but not limited to those of merchantability or
fitness for a particular purpose. The duration of implied warranties is limited to the warranty length specified in
Paragraph I.

VI. TO OBTAIN TECHNICAL SUPPORT
If you have already referenced your preduct owner's manual and still need help, you may contact us by phone at +1
(800) 228-9395, by email at service@nzxt.com, or visit the NZXT Support site at nzxt.com/customer-support.

VIl. HOW TO OBTAIN A WARRANTY SERVICE FROM NZXT

To receive a warranty service for your product when purchased directly from NZXT, you must submit a request via

the NZXT Support site outlining the problem. If a technician deems the product defective or requiring testing, you
will be required to provide a copy of your proof of purchase, which will enable you to submit a Return Merchandise
Authorization “RMA™ request.

Once approved, you'll receive an RMA number, upen which you will be asked to ship the defective item back
to NZXT with the RMA number clearly marked or labelled on the package. NZXT recommends that appropriate
measures are taken to safeguard the product from damage during shipping.

VIIl. APPLICABLE LAW AND ADDITIONAL LEGAL RIGHTS FOR CONSUMERS

This warranty gives you specific legal rights. These conditions are governed and construed in accordance with

the laws of California (with exception of its conflict of law provisions), and the application of the United Nations
Convention of Contracts for the International Sale of Goods is expressly excluded. The non-exclusive jurisdiction
of the courts of California is agreed, which means that you may bring a claim to enforce your consumer protection
rights in connection with this Global Warranty in the country which you have your habitual residence where you
may have additional rights. These rights may vary.

For original consumers who are covered by consumer protection laws or regulations in their country, state, or
province of purchase or, if different, their country, state, or province of residence, the benefits conferred by this
warranty are in addition to all rights and remedies conveyed by such consumer protection laws and regulations. To
the extent that liability under such consumer laws can be limited, NZXT’s liability is limited, and its sole option, to
repair or replacement, either new or refurbished, with a similar function that is equal or greater in value depending
on supply.

In the United Kingdom:

«  For NZXT products sold te customers in the UK, during the expected lifespan of your product your legal rights entitle you to
the following:

» Up to 30 days: if your goods are faulty, then you can get an immediate refund.
> Up to six months: if your goods can't be repaired or replaced, then you're entitled to a full refund, in most cases.
> Up to six years: if your goods do not last a reasonable length of time you may be entitled to some money back.

« [fthe person seeking to rely on the guarantee is not the original consumer, the NZXT Warranty will cover the product in relation
to that person provided that they are able to provide proof of the transfer of the benefit of the guarantee from the original
consumer.

+  Theimplied warranties under the Consumer Rights Act 2015 says that your goods must be as described, fit for all purposes for
which such goods are usually supplied, and of satisfactory quality.

In the EU:

« Ifyou are a consumer and have your habitual residence in the EU, you additionally enjoy the protection afferded to you by
provisions that cannot be derogated from by agreement by virtue of the law where you have your habitual residence.

IX. WARRANTY SERVICE FROM RESELLERS

In the event that a warranty service is sought, you must provide proof of purchase (store receipt or invoice) in order
to receive the service and if deemed necessary, repair or replacement product.

In North America:

Within the first 60 days after purchase, please return your product (or for power supplies installed within our
enclosures, just the failed power supply) to your dealer or reseller for a replacement. If the product is still within
warranty and you can no longer return it to your dealer, please contact NZXT Customer Suppert (see above) for
assistance and instructions. NZXT will not accept returns without prior approval and an RMA number.

In Europe:

Within the first year after purchase, please return your product (or for power supplies installed within our
enclosures, just the failed power supply) to your dealer or reseller for a replacement. If the product is still within
warranty and you can no longer return it to your dealer, please contact NZXT Customer Support (see above) for
assistance and instructions. NZXT will not accept returns without prior approval.

In Australasia:

Within the first twe years after purchase, please return your product (or for power supplies installed within cur
enclosures, just the failed power supply) to your dealer or reseller for a replacement. If the product is still within
warranty and you can no longer return it to your dealer, please contact NZXT Customer Support (see above) for
assistance and instructions. NZXT will not accept returns without prior approval.

The cost of shipping will be borne at the first instance by you; however, if the purchased item is defective, NZXT
will reimburse reasonable postage or transportation of costs.

Outside North America, Europe, and Australasia:

If your product needs to be returned within the warranty period, please contact the retailer or distributor fram
whom you purchased the product.

X.NZXT.COM STORE RETURNS/EXCHANGE POLICY

Eligible products under this NZXT Warranty qualify for a full refund or exchange only with an authorized RMA
number and if the item is returned to the NZXT.com store inventory within 30 days of purchase. Returns are

not allowed beyond 30 days of the purchase date. The NZXT.com Store reserves the right to deny any return or
exchange. Refunds will be credited to the original method of payment. To initiate a return, simply submit a request
via NZXT support site.

SUPPORT AND SERVICE

SUPPORT AND SERVICE
If you have any questions or problems with the NZXT product you purchased, please don’t hesitate to contact us using our
support system. support.nzxt.com

Please include a detailed explanation of your problem and your procf of purchase. For comments and suggestions, you can e-mail
our design team, designer@nzxt.com. Lastly we would like to thank you for your support by purchasing this product.

For more information about NZXT, please visit us online. NZXT Website: nzxt.com

SOPORTE Y SERVICIO

Sitiene preguntas o problemas con el producto NZXT que usted compré, no dure en ponerse en contacto con service@nzxt.com
y suministrar una explicacién detallada de su problema asi como su prueba de compra. Puede hacer consultas sobre piezas de
repuesto en support.nzxt.com. Para comentarios y sugerencias, escriba un mensaje de correo electrénico a nuestro equipo de
disefio: designer@nzxt.com. Gracias por comprar un producto NZXT. Para mas informacion acerca de NZXT, visitenos en linea.
Paginaweb de NZXT: nzxt.com

SUPPORT ET SERVICE

Sivous avez des questions ou des problémes avec le produit NZXT que vous avez acheté, n’hésitez pas a contacter service@
nzxt.com avec une description détaillée de votre probléme et votre preuve d’achat. Vous pouvez aussi commander des piéces de
remplacement auprés support.nzxt.com. Pour les commentaires st les suggestions, envoyez un email & notre équipe de design,
designer@nzxt.com. Merci d'avoir acheté ce produit de NZXT. Pour plus d'informations sur NZXT, visitez notre site Web. Site Web
de NZXT : nzxt.com

KUNDENDIENST UND SERVICE

Falls Fragen oder Probleme bezlglich Ihres NZXT-Produktes auftreten, wenden Sie sich bitte mit einer detaillierten
Problembeschreibung und lhrem Kaufbeleg an service@nzxt.com. Ersatzteile kénnen Sie unter support.nzxt.com anfragen.
Kemmentare und Anregungen senden Sie bitte per designer@nzxt.com an unser Designteam.Vielen Dank, dass Sie ein
NZXT-Produkt erworben haben. Weitere Informationen Gber NZXT erhalten Sie im Internet. NZXT-Webseite: nzxt.com

ASSISTENZA E SERVIZIO

In caso di dubbi o problemi con il prodotto NZXT acquistato, non esitate a contattarci utilizzando il nostro sistema di
assistenza. support.nzxt.com

Includere una spiegazione dettagliata del problema e la prova di acquiste. Per commenti e suggerimenti, siete pregati di inviare
un messaggio al nostro team di progettisti, all'indirizzo: designer@nzxt.com. Infine, vogliamo ringraziarvi del vostro suppoerto
con l'acquisto di questo prodotto. Per altre informazioni su NZXT, visitate il nostro sito. Sito NZXT: nzxt.com

ASSISTENCIA E MANUTENCAO

Caso tenha questaes ou problemas com o produto NZXT adquirido, nac hesite em contactar-nos através do endereco service@
nzxt.com fornecendo a explicacio detalhada do seu problema e a prova de compra. Podera sclicitar pecas de substituicio
através do endereco support.nzxt.com. Para comentarios e sugestées, contacte a nossa equipa de design através do endereco
de e-mail, designer@nzxt.com. Obrigado por ter adquirido um produte NZXT. Para mais infermacaes acerca da NZXT, visite-nos
online.Web site da NZXT: nzxt.com

CNYXKEA NOAREPHKKW U OBCNYXKUBAHUA

B cnyuae BOZHWKHOBEHWA BONPOCOE MU HEMCNPABHOCTEN B NpUobpeTanHbix Bamn npogyktax NZXT obpawaitecs no agpecy: service@
nzxt.com ¢ NoAPOGHBIM ONMCAHWEM NPOBREMB M NOATEEPKASHHEM NOKYTIKM. O HANMUMKM 3aNYaCTel MOXHO Y3HaTb, 0BPaTMBLINCE NO
appecy: support.nzxt.com. 3aMeuaHua 1 NpeNoKeHVA OTNPABNAATE B Pec Halel rpynnbl pazpaboTunkes: designer@nzxt.com.
Braropapum eac 3a nokynky npoaykta NZXT. Bonee nogpo6iHaa nHgopmayua o komnanum NZXT npecTagneHa Ha Hawwx seb-caiTax.
Be6-caitt NZXT: nzxt.com

TE B MHA

TS NZXT H 21 paisto] 22 £= 287t o8 22, 2Ale] A8 A28 (support.nzxt.com) & AHESHe] 22/8tuA|2,
3 L= Agh Aol 2lg 22 g 2F 2ol designer@nzxt.com2 2 O] H

£ EHuAIR. OG22 o] HEE TS SALS S MM ZAFZLICH NZXTO] i3l AbH5] L2 22tele2 wastu |

2. NZXT 2 A0l E: nzxt.com

HR—rHBEEUH—ER

HEA T ELNZXTOR R ICM T2 THE E R, oM H S UMA OIERE F2 T, TE#i<sarvice@nzxt.com¥E T
THE e E L EREEREsupport.nzxt.comFTH BR LTV TRABLUTIRRIE B F — L. designer@nzxt.com F
THA—EEE LTSV NITRRECHAVREEELTBUAREITEVET. NIXTIKM T 253488, 1 v a—Ry b EDTTT
HA rETEGEEVNIXT DT 75 b nzxt.com

MRS
MEATOHTAREEET NZXT RS R PHAIETE 8, RS service@nzxt.com, BN B EAT OB FERBRWE

FIiE - £TLIE support.nzxt.com EEEMREEL - MATAENHR Y FORERMEHEHIL BFEHHITE designer@nzxt.
com * EHEE NZXT 7= - A% NZXT I ESER, BiEnHRELRMEE - NZXT Wi : nzxt.com

TR

MEEEENZXT EZpRECTAIIT MR E=SRERE  $30H % service@nzxt.com + AR SFBENH AT RIEEEE - 79
L3R support.nzxt.com BAE @E{F - EETEREHIRE  $E0TRER 505 % designer@nzxt.com - B EHITHE
NZXT fii & - A NZXT 1S 282 « HERIE M0 - NZXT #14 @ nzxt.com

Visit nzxt.com/warranty and support.nzxt.com for information on warranty coverage and service.

Visite el sitio Web nzxt.com/warranty y support.nzxt.com para obtener informacion sobre la cobertura y el servicic de la garantia.
Visitez nzxt.com/warranty et support.nzxt.com pour les informaticns de la couverture de la garantie et du service.
Informationen zu Geltungsbereich und Service der Garantie finden Sie unter support.nzxt.com und nzxt.com/warranty.

Visitare il sito nzxt.com/warranty e support.nzxt.com per informazioni sulla copertura e sul servizio della garanzia.

Visite nzxt.com/warranty e support.nzxt.com para obter informacdes sobre a cobertura da garantia e assisténcia.

MegpobHyo nHbopMaUuo of YCNOBMAX rapaHThitHoro oBCnyXMBaHNA cv. Ha Befi-caliTe nzxt.com/warranty u support.nzxt.com.
HEES g2t Md[A H2 2 20I5HAIE B nzxt.com/warranty = support.nzxt.com 2 228 F=A|7| BHEFLICEH,
FEHIE B ST —ERICE TSI DL Thd, support.nzxt.com & nzxt.com/warranty [C7ZEALT{EELY

BT nzet.com/warranty 7 support.nzxt.com T RFIEEMAEHIER -
SEERRS nzxt.com/warranty ¥ support.nzxt.com T BERFEGEEMESEERE -
E . E
L

B N I N

Scan the QR code or visit manuals.nzxt.com/h510flow
toview or download the full manual.

NZXT, Inc./ 15736 E Valley Blvd, City of Industry, CA 91744, USA
NZXT Europe GmbH/ Industriering Ost 66 | 47906 Kempen | Germany
+1 (B00) 228-9395 / service@nzxt.com / nzxt.com



	H510 FLOW-manual-210701-V1
	H510 FLOW-manual-210701-V12
	H510 FLOW-manual-210701-V13



